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Table: Product
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ProductName Price SaleDate
NoteBook 34000 Jan-05-2013
TV 40000 Oct-13-2013
AirConditioner | 36000 Feb-22-2012
PC 28000 Jan-28-2013
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String SQLstring="INSERT __ (1)  Product (ProductID, Name, Price, Date) ”

+° (2) (“7 +Al.getText().trim() + “*, “ “ + A2.getText().trim()
+°°, "%+ A3.getText().trim() + “ *, * “ + Ad.getText().trim() + )”;
try {

insertCount = SQLStatement.executeUpdate( (3) );
}

FSELECT MAX(Price),
SUM(Price) FROM Product WHERE SaleDate BETWEEN
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int number =10;

while (number >0)
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{
number = number - 2;
if (number = 4)
continue;
System.out.printin(number);
}

System.out.printin(“The End”);
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Public class Test
{
public static void main (string[] args)
{
for (int n=0; n<4; n++)
System.out.printin(“3 to the power “ + n + “is “ +power(3, n));
}
public static int power(int x, int n)
{
If (n<0)
{
System.out.printin(“lllegal argument to power.”);
System.exit(0);
}
If (n>0)
return (power(x, n-1) *x);
else
return (1);
}
}
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push(a) - push(b) ~ pop() ~ push(c) - push(d) ~ pop() ~ push(e) ~ pop() ~ push(f)
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(I ) ™ BIE= ~# 570415 & i gi(preorder traversal) 2 {2 / i g¥(postorder traversal)
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